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HPI
X2

Microsoft Office Excel 2003 0.05

BMI
3 C BMI  0.5+0.6 kg/m? p<0.05
2.14+2.4 cm p<0.05 H BMI 1.0+=1.0 kg/m?
p<0.01 2.14+3.1cm 2
HPI 3 C 0.6+0.7 H 1.1+1.0
3 C p<0.05 H p<0.01
HPI 3 H
C
HPI H
H p<0.05
3
1
C H
(n=10) (n=12)
5 2/3 6 3/3
5 1/4 6 5/1
63.5 +4.9 63.3 7.3
cm 156.3 +8.8 161.7 #9.2
kg 60.7 7.2 675 453
B M I kg/n? 249 2.2 259 2.1
cm 92.4 +5.8 93.7 5.2
p 0.05

BMI Body Mass Index



C H
(n=10) (n=12)
3 3
BMI kg/m?2 249422 244424 -05+06 259421 249+18 -1.0%1.0
n.s.
1 1
cm 924458 90.3+54 -2.1424 937452 91.6+51 -2.1+3.1
p 0.05, p 0.01 -
n.s. not significant
3 HPI
C H
(n=10) (n=12)
3 3
1 1
HPI 42411 4.8+14 0.6+0.7 3.8+16 48+15 1.1+10
0.05, 0.01 -
BMI C H 3
H C HPI
H HPI
HPI H C

H BMI  HPI
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